## SNS COLLEGE OF TECHNOLOGY



## (An Autonomous Institution) Coimbatore - 641 035 **DEPARTMENT OF MATHEMATICS** RANDOM PROCESSES, WIDE SENSE STATIONARY PROCESS



Every SES process of order & SE Process and not conversely.

The Process x(t) whose probability usder certain conditions is given by,

$$P[x(t)=n] = \begin{cases} \frac{(at)^{n-1}}{(1+at)^{n-1}}, & n=1, 2, \dots \\ \frac{at}{1+at}, & n=0 \end{cases}$$

Show that it is not stationary [Evolutionary]

Boln : The publishery distribution of {x(t)} % x(t) = n

 $\frac{at}{1+at} \frac{1}{(1+at)^2} \frac{at}{(1+at)^3} \frac{(at)^2}{(1+at)}$ 

Moan:

$$E[x(t)=n] = \sum_{n=0}^{\infty} n p(n)$$

$$= 0\left(\frac{at}{1+at}\right) + 1\left(\frac{1}{(1+at)^{2}}\right) + 2\left(\frac{at}{(1+at)^{3}}\right) + \cdots$$

$$= \frac{1}{(1+at)^{2}}\left[1 + 2\left(\frac{at}{1+at}\right) + 3\left(\frac{at}{1+at}\right)^{2} + \cdots\right]$$

$$= \frac{1}{(1+at)^{2}}\left[1 + 2\left(\frac{at}{1+at}\right) + 3\left(\frac{at}{1+at}\right)^{2} + \cdots\right]$$

$$= \frac{1}{(1+at)^{2}}\left[1 - \alpha\right]$$

$$= \frac{1}{(1+at)^{2}}\left[1 - \alpha\right]$$

$$= \frac{1}{(1+at)^{2}}\left[1 - \frac{at}{1+at}\right]$$

$$= \frac{1}{(1+at)^{2}}\left[1 - \frac{at}{1+at}\right]$$

Scanned with CamScanner

#### SNS COLLEGE OF TECHNOLOGY



(An Autonomous Institution) Coimbatore – 641 035

DEPARTMENT OF MATHEMATICS
RANDOM PROCESSES, WIDE SENSE STATIONARY PROCESS



$$= \frac{1}{(1+at)^2} \left[ \frac{1+at-at}{1+at} \right]^{-\frac{1}{2}}$$

$$= \frac{1}{(1+at)^2} (1+at)^{\frac{1}{2}}$$

$$= \frac{1}{(1+at)^2} (1+at)^{\frac{1}{2}}$$

$$= \frac{1}{(1+at)^2} (1+at)^{\frac{1}{2}}$$

$$= \frac{1}{(1+at)^3} (1+at)^{\frac{1}{2}} + \frac{1}{(1+at)^3} + \frac{1}{(1+at)^4} + \frac{1}{(1+at)$$

Scanned with CamScanner

### SNS COLLEGE OF TECHNOLOGY



## (An Autonomous Institution) Coimbatore - 641 035 **DEPARTMENT OF MATHEMATICS** RANDOM PROCESSES, WIDE SENSE STATIONARY PROCESS



$$=\frac{2}{(1+at)^2}\left[1-\frac{at}{1+at}\right]^{-3}-1$$

$$=\frac{2}{(1+at)^2}\left[\frac{1+at}{1+at}\right]^{-3}-1$$

$$=\frac{2}{(1+at)^3}\left[\frac{1+at}{1+at}\right]^{-3}-1$$

$$=\frac{2}{(1+at)^3}\left[\frac{1+at}{1+at}\right]^{-3}$$

$$=\frac{2}{(1+at)$$

Note:

$$E(a) = a$$
;  $V(a) = 0$ 

# Formula:

Scanned with CamScanner